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ENGLISH

|. Read the following sentences and answer the questions that follow. Choose the
right answer and mark it.

1.

2.

3.

‘He said it expanded his lungs’. The antonym of ‘expand’ is
(1) Unfold (2) Contract (3) Spread (4) Loosen

‘Did you get up early this morning’ ? What part of speech is the word ‘early’ ?
(1) Adjective (2) Preposition (3) Adverb (4) Verb

‘| kept them quiet for ten minutes’. The antonym of ‘quiet’ is
(1) Noisy (2) Calm (3) Complete (4) Cry

Il. Study the bar graph given below and answer the questions. Choose the right
answer and mark it.

RUNS SCORED BY DECCAN CHARGERS IN THE LAST OVER OF A T20 MATCH

Runs

I

First Second Third Fourth Fifth Sixth
Ball Ball Ball Ball Ball Ball
Maximum runs were scored in the
(1) Second ball (2) First ball
(3) Sixthball (4} Fourth ball
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5. How many runs were scored in the fifth ball ?
(1) 6 (2) 4 (3) O (4) 2

6. What are the two balls in which the batsmen scored the same runs ?
(1) Firstand Secondballs - (2) First and Sixth balls
(3) Third and Fifth balls (4) Second and Third balls

lll. Identify the proper order of the following sentences and mark them. (The first and
the last sentences are in the proper order.)

7. 1.

g

Hi, Cherry, how are you ?

2. Well, | play a lot of sport.
3.
4. Hi, Abdul. I'm fine. You look very fit and healthy. What do you do to keep

| like shuttle badminton.

yourself like this ?
What sport do you like the best ?

Yes | do. 1 go running in the morning at least five days a week. Are you interested
in sport too ?

Do you ever go running ?

Yes. | like swimming. | swim everyday without fail.
(1) 1,4,2,5,3,7,6,8 (2)1,3,4,6,2,5,7,8
(3) 1,4,5,3,7,2,6,8 (4)1,5,2,3,6,4,7,8

8. Who is the author of “Mother’'s Day : One-Act play” ?
(1) W.R.Inge (2) J.B. Priestley
(3) Shiv K. Kumar (4) Stephen Leacock

9. George Orwell's ‘Animal Farm' is marked by a profound awareness of
(1) Equality (2) Liberty
(3) Social Injustice (4) Fraternity
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10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

. 20.

The novel ‘Animal Farm’ shows how power corrupts too.
(1) Men (2) Animals (3) Birds (4) Insects

“Then you can sail away be happy”. In which poem does this line appear ?
(1) Equipment (2) The Giving Tree
(3) Harvest Hymn (4) Bullin the City

Choose the word that has the same meaning as the expression given below.
* That which can not be conquered™.

(1) Invisible (2) Infallible (3) Inevitable (4) Invincible

“Lots of assembly-line jobs will Vanish”. The synonym of ‘Vanish’ is
(1) Disappear (2) Appear (3) Found (4) Seen

Identify the part of speech of the underlined word.
“The search became a mania with me”

(1) Adiective (2) Noun (3) Verb (4) Conjunction

Identify the number of syllables in the word “around” (around)
(1) Mono (2) Di (3) Tri (4) Poly

Which letter is stressed in ‘Volunteer’ ?
(1 v (2 L (3) E 4 T

Identify the silent letter in ‘subtle’.
(1) s (2 b (3) t (4) |

Find the word that is different from the other words in the group with regard to the
sound of the underlined letters.

(1) Change (2) Character (3) Cheap (4) Chance
Identify the right word for /KJut/
(1) Coat (2) Kute (3) Cute (4) Cote

Supply the missing letters to complete the spelling of the word “Anc _ _ tral”.
(1) i s (2) e 3 us (4) s, e
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IV. Fill in the blanks with suitable answer.

21.

24.

27.

After working so hard he didn’t deserve to fail in the exam,

(1) doesn'the? (2) Didhe? (3) Don'the ? (4) Ishe?
Yesterday at this time all of us (watch) the cricket match.
(1) watched (2) arewatching  (3) hadwatched (4) were watching
The object is to prevent him failing.
(1) for (2) from (3) in (4) at
The rose is prettier than flower.
(1) Noother (2) Anyother (3) More other (4) Mostother
You must cure me this horrible iliness.
(1) of (2) at (3) in (4) for
Each of the boys given a chocolate.
(1) were (2) was (3) has (4) have
There was a man was very greedy.
(1) which (2) when (3) who (4) why
injured were immediately taken to the hospital.
(1) A (2) An (3) The (4) No article
Mark the part of the sentence that has an error.
Sunanda was wearing a pink pretty saree.
1 2 3
(1) 1 (2) 3 (3) Noerror (4) 2

The teacher will come when the bell

(1) Rings (2) Rang (3) Ring ~ (4) Hadrung
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31.

32.

ECONOMICS

From the below, what are the features of ‘Economic Commodity’ ?

(1) Nature given, no price (2) No production cost — no price
(3) Scarcity, price _ . (4) Allthe above

53 8od T3S 893.’»;6@9@ ofrTe ‘

(1) S5 Erdwo, 36 Godeo (2) cthd Ss000 oS, 656 E0es
(3) 5,55 (4) 29

Which is the ‘wealth’ from the below ?

(1) Money (2) Shares

(3) Land and Buildings "(4) All the above
53 308 38" Do 2 |
(1) w0 (2) Treren

(3) atrdv, esres (4) psy

When the total utility increases with decreasing rate, then Marginal Utility ?

(1) Increases (2) Decreases

(3) Constant _ (4) Increases with decreasing rate
200 BATe0 BB BenS DEHBEIPED G0 A0

(1) 2ooroE0d (2) Brso0b

(3) Roor &otwod o {4) B Bend EHB00

If, the X’ and ‘Y’ are substitute goods, if the price of the ‘X’ decreases, then the
demand for Y’

(1) Decreases (2) Increases
(3) Constant (4) None of the above
X’ 20800 Y e ©BErgEEImaih Sdeo eand X' 8 SASIHED Y dirob
(1) ns0b (2) 208008
(3) o (4) 29 5o
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35. The demand curve with perfect elasticity will be

(1) Left to right downward sloping {2) Leftto right upward sloping
(3) Parallel to ‘X’ axis (4) Parallel to Y’ axis

ROy TS S Mo Aol B

(1) o550 5008 HAL 0B 0 Eotod (2) 5o 008 HAL T Goexod
(3) X erxrRd Surosto (4) 'Y ozl SsroBto

36. If the demand curve is with ‘Rectangular Hyperbola’ shape, then the elasticity of
demand is an equal to

(1) 1 2 >1 3 0 (4) <1
Gisrobs B ‘wow @I HeNs0" esrtod” dkpn dirob TS s

(1) esekdssorso (2) ese3sod S
(3) wrwp (8) e S0 B3
37. The '‘Budget Line' is also known as
(1) Price Line (2) ProfitLine
(3) Lifeline (4) Property Line
‘2G5 O £ B8tk
(1) &8s (2) oeode (3) donde (4) eyBs

38. The consumer will be in equilibrium position, when the
(1) Budget line condemns the indifference curve
(2) Budget line is tangent to the indifference curve
(3) Budgetline is above to indifference curve
(4) Budget line is below to indifference curve
&2 300 Hotsos’ DIAFNTEHD H0Fos’ dotr
(1) 0ge5de emhoiss 380 pododSpe
(2) 2353 &bt SEEDH BBPIT &SP
(3) DBe5B acrhises SEde% JOIS S
(4) xeSdp drrhon HEdP0 BIHS oo
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39. The relation between the inputs and output is known as

(1) Production Function (2) Price Function
(3) Trade Function (4) Utility Function
&8)03 &S SETOL IR DOVOGIOR JoLTED ?

(1) &858 00 (2) &30

(3) =redes oo (4) ©AFes oo

40. in perfect competition the Marginal Revenue (MR) is
(1) Equalto Average Revenue (AR) (2) Morethan AR

(3) Lessthan AR (4) Lessthan price
B0°g eI S’ edron od

(1) e oraadd 580 (2) 2w Traad S06d D)%
(3) e oreads 5okd BE D (4) 365083 6555

41. ‘Selling costs’ is the specific feature of the following market

(1) Perfect competition (2) Monopoly

(8) Monopolistic competition (4) Oligopoly

‘S0 Sg0Xre’ (§08 $IB),5 BT 0o

(1) sogre s (2) Do

(3) D5mgsog 26 (4) S02BIFE
42. ‘Duopoly’ means

(1) Only two firms (2) Limited firms

(3) Large number of firms (4) No fim

alayar N

(1) 30 wssomrden (2) 28208 esySoTtes

(3) D5 Sopgd' ensnSorthes (4) Sopes e
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43. According to the Marginal Productivity Theory of Distribution, the price of any
factor of production depends upon its

(1) Marginal Productivity (2) Average Productivity
(3) Total Production (4) Average Revenue

S0 STSE HoDES TOBO (S0 2.8 &S S0 G (56 52 308 T LTSRS
(1) &dro aarysses (2) dKex eomesEs
(3) dvdoethd (4) sxenoead

44, ‘The Classical Theory of Rent’ was put forward by

(1) Henry Carey (2) David Ricardo
(3) Briggs (4) Jordan
BOEEAb 7 HTpoBo’ K> SOVHS
(1) wesp (2) &2&osC
(3) &h (4) &S
45. National Income when divided by total population of nation is known as
(1) Percapita Income (2) PersonaIAIncome
(3) Disposable Income (4) None of the above

2HOOTOD0R BF ee 8 aTRode SHyd

(1) 208 eorabo (2) desoroo
(3) Sg0ards escrolo (4) 3Dz

46. In India, National Income is estimated by

(1) Central Statistical Organisation (2) Reserve Bank of India
(3) Finance Commission (4) Planning Commission
TOBOHOS” erHONTAN0R WOST DAL

(1) Sogrerosoy (2) arEBA0 destig ergo

(3) esgssoimo / (4) erssomo
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47. “Supply creates its own demand” was proposed by whom ?

(1) Karl Marx (2) J.M.Keynes
(3) J.B. Say (4) J.R. Hicks
D900 BRIOTRO GErobis HMEBE0En0d’ e BB N ?
(1) =bxsrhy, (2) & 9%.45
(3) 2.0.% (4) 2. eb. 2§

48. ‘Effective Demand’ means

(1) Aggregate Demand = Aggregate Supply
(2) Aggregate Demand > Aggregate Supply
(3) Aggregate Demand < Aggregate Supply
(4) None of the above
TEE Asrol e

(1) SDRAESFE = SWYR
(3) SoPdsrol < dWYD

(2) 52} A58 > 5o
(4) Pz

eee

oV
(3]
DO
(3]

8

49. ‘The double coincidence of wants’ is the necessary condition to run the following

system.

(1) Barter system (2) Metallic money system
(3) Paper money system (4) Plastic money system
S0, © DO SIFH0I0" @098 308 IgS5 SESGIS HZWO DEE

(1) SR 50y 3599 (2) &op B 3558

3) s Epagsy (4) 238 e 5553

50. Which of the following is the controller of credit in India ?
(1) State Bank of India (SBI)
(2) Reserve Bank of India (RBI)
(3) Bank of Credit (B.C.)

(4) NABARD
2PES0F0S" 'HESA JAHoEE’ DAL
(1) SBI (2) RBI (3) B.C. (4) NABARD
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51. Economic development includes
(1) Increase in production (2) Eradication of absolute poverty
(3) Reduction in unempioymentlevel (4) Allthe above

693"@50)@66 108 @080/ 90T e GoeIaN)

(1) &8y38° webrdse (2) D5g DE50%E" K
(3) NEEo o’ srmse (4) 22
52. From the below, which is not the characteristic feature of developing countries ?
* (1) Scarcity of capital (2) Predominance of agriculture
(3) High incidence of poverty (4) High per capitaincome
B3 800 T3 D50 Dochtody BF 00 6 ?
(1) %05 sreeso (2) S5m0 Do
(3) 25 2050 (4) 0¥ 30 aorale

53. India’s ‘Economic Retorms’ includes
(1) Liberalised industrial licencing policy
(2) Removal of restrictions on Foreign Investment
(3) Providing more space to private sector
(4) Allthe above
2D e—sgs’ Do), Beve0 EOR &y wodo /ecTen
(1) 808 dpmore 5ERESe (2) 283 veeie » eofo Fohod)
(3) Woxde BorrdS e (4) 29

54. From the below, which is not the feature of globalization ?
(1) Imposing restrictions on the movement of labour between the countries
(2) Permitting free flow of technology between the countries ‘
(3) Permitting free flow of goods among the Nations -
(4) Permitting free flow of services among Nation States
81808 338" (3300568 0FF0 5206
(1) &= S0¢5s @00 8590 P esogen HPoisero
(2) Soro oy Jroiay $BeH0 BEDOHD RGO
(3) Zemo Bodss e BP0 eEsBoN
(4) Srro 20655 0 BEDO 8BRBOBE0
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55.

57.

58.

59.

The United Nations Development Programme (LUNDP) has prepared its first Human
Development Report under the stewardship of

(1) Prof. A K. Sen (2) Prof. Mohbub-ul-Haq

(3) Prof. Mansoor Ahmed (4) Prof. M.S. Ahluwalia

D350 TONEGE’ DET e DR SIS0 B Icked SISTHIE HrDE SoXrH BROB ?
(1) o308 (2) worogsoiard-ad-8

(3) emgyonmbemb (4) ey, OB, oSvTdIr

As per 2011 Census, the female literacy rate in India
2011 e5ey 85,0 (35760 rGBB908" o eose 70 ?
(1) 74.04 (2) 82.14 (3) 65.46 (4) 16.68

The share of the primary sector in India’s Nationa!l Income

(1) Has been declining (2) Has beenincreasing

(3) Has been constant (4) Increasing with increasing rate
SPSBHOE PHATTabOS” PRG0S Soko e

(1) ESoor srsond (2) &0 WHBHD

(3) Do and (4) RS Bend’ OB

Mahatma Gandhi National Rural Employment Guarantee Scheme was launched in
the year

DO TYTOR 2SO0 (AL PR SR HEEC DE0LRLAND HOSEEO

(1) 1976 (2) 1999 (3) 2006 (4) 2012
The largest employment providing sector in India is

(1) Agriculture (2) Industry

(3) Services (4) Handioom industry
POBEOS’ D5 B RN BHyy Sofko

(1) SgSmabo (2) soEsoe

(3) “%en (4) 338 soE
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60. Among the following crops, which is the highest yielding crop in India ?

61.

(1) Rice (2) Wheat (3) Pulses (4) Maize
POBOFOE’ IS STNSEBL 7 Dot
(1) =6 ' (2) Aesomo (3) Sxyorees (4) Do £y

From the below, which is not the cause for the low productivity in agriculture
in India

(1) Poortechniques of production

(2) Dependence on rainfall and monsoons

(3) Low irrigation facilities

(4) Thelarge size of land holdings

51 800 TIE° 580 F0E" SESTAD STRSED B ST doerdS 5°6E0 S8

(1) Treages 8D &ty o (2) Sopos sgsroo

(3) &5 JeIenise FrEogwo (4) x5 sz

aboliﬁon of Intermediaries, Tenancy Reforms and Ceiling on land holdings are part
(1) Green Revolution (2) Land Reforms

(3) Economic Reforms (4) Globalization

BG55%500 SoNos, Ten So,0ewn, 20° SOA Do Do §od O wodod aro ?
(1) =08 2550 (2) 2> Sotem (3) eBEBofeen (4) @30

NABARD was set up in the year
NABARD (srerf) 25 32005 Rodgyso
(1) 1972 (2) 1982 (3) 1990 (4) 1935

Industrial Policy Resolution which is known as New Industrial Policy was speit out
in the year -

TS TOFDE D0’ 1 DewSeceisiy TOFDE TS STmySoms it BT 9
(1) 1948 (2) 1956 (3) 1977 (4) 1991

From the below which is not correctly matched
L8 38 B BESESHASS |
(1) 1948-IFClI (2) 1951-ICICI  (3) 1964—-IDBI (4) 1990-SIDBI
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66.

67.

68.

69.

70.

Service sector includes A

(1) Trade ~ (2) Hotels (3) Banking (4) Alithe above
EoB 36" W% BoKo SOBSE’E 3HB /3D

(1) =0 (2) Feen (3) erpoen (4) 2

In which five year plan the term ‘Inclusive Growth’ was used first time ? ,
(1) First "~ (2) Fifth (3) Tenth (4) Eleventh
BSITD D Do WETVLS” SADBE’ B0 eDAFAOBREOB ? |

(1) doocses (2) esaness (3) =& (4) 3&8otss

in Andhra Pradesh State, Balanced Regional Development became one of important
objectives from the

(1) First five year plan onwards (2) Second five year plan onwards

(3) Third five year plan onwards (4) Fourth five year plan onwards
SOSEBE 06" D $0iSSE HETIS 500 $08DE FrodaArDENE (5 oFps® LT 51000 ?
(1) dooeses (2) Bocss () Sores (4) o3

From the below, which are the sources of Air Pollution ?

(1) Vehicular emissions, nuclear tests

(2) Deforestation, mining

(3) Burning of fire woods, industrialization

(4) Allthe above

5+ (300 eI Tahd SPeoVS 50 edixd

(1) T 308 Sren, v D05 (2) oo $S63Y, pJre OIS
(3) Qo0 seye0, Jogdsser (4) 25

“Meeting the needs of the present without compromising the ability of the future
generation to meet their own needs” is known as

(1) Sustainable Development (2) Balanced Development

(3) Human Development (4) Inclusive Development

SIS BT SITORL NG EOBH il B0 SBITLD> AT Es SO OO ?
(1) SSTRoBR DY (2) Sowds ey

(3) srsvdpg (4) 32300 0By
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73.

74.

75.

COMMERCE -1

. The main objective of business is

(1) Toeam profit (2) Toincrease sales revenue
(3) Torender services (4) None of the above

THonte o), S0Py &0F0

(1) oorgs (2) oo Hodododto

(3) oden Do (4) 3=

The following Industry is called Extractive Industry

(1) Poultry (2) Mining (3) Fertilizers (4) Insurance
&+ $08 Te3E” 2.8 BOEFROR ST BOFS0 €% DOOO

(1) £ posso (2) ok (3) >p8uby - (4) 3B,
The liability of the shareholder is

(1) Limited (2) Limited by guarantee

(3) Unlimited (4) None of the above

TeTTHEIQ QA00E) OERICE

(1) =883 (2) 5800 6 D880 (3)  edLso (4) 2D =

The motto of “All for one and one for all” , which organisation follows

(1) Sole TradingConcern (2) Partnership Firm

(3) Joint Hindu Family Business (4) Co-operative Society

2.5 §%50 @065, 90650 §750 2,805 €550 DTGB D M0 ©DBRIHD ?

(1) ot g (2) arREogTRSa

(3) &Sd Srotss $e02 TEREE (4) o= dogen

There should be a maximum of members in a Private Limited
Company as per Indian Companies Act.

(1) 50 (2) 20 ‘ (3) 100 (4) No Limit

&P 000 D60 (35760 (525 ONAE $020E" NOZVR05 Somg |

(1) 50 (2) 20 (3) 100 (4) endsH
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76.

78.

79.

80.

81.

A pariner who does not share the profits and losses of the firm and is not liable for

the debits of the firm is known as

(1) Minor partner (2) Partnerin profits only

(3) Quasi partner (4) Partner by holding out

R0 G0k, TARSLed’ T EHOT S8 NOP RO WREH SIrOBHOGS &os BPNREY
€90 LI0eTED

(1) wBermays (2) oerofernays (3) 330w (4) ardd gy

Business does NOT include

(1) Agriculture (2) Commerce (3) Industry (4) Services

TI306" B2 800 T3 D wowsn A ot 7

(1) SgSrao (2) >redepe (3) 8@ (4) =00

Total and undivided risk is the main teature of

(1) Partnership (2) Sole Proprietorship

(3) Joint Stock Company (4) Co-operative Society

2080 JZAOIPY JEOEYD H0P o), Sweg ©FE0 o $00 TeIS" D TS &otnod ?

(1) errSegog oo (2) Frod e dog

(3) zrowoes JE sowdes (4) SETEROY

In which year the Co-operative Movement was started in England ?

(1) 1944 (2) 1935

(3) 1844 (4) None of the above

R0ToES” D FoBEERNE" HISES G PEoOTED ?

(1) 1944 (2) 1935 (3) 1844 (4) P

In which year Indian Companies Act was formulated ? |

OB KoL BEO D VOHEBH0E" ErdroBosdSe ?

(1) 1932 (2) 1946 (3) 1956 (4) 1936

Investment in which of the following is most risky ?

(1) Equity shares (2) Preference shares

(3) Debentures (4) Fixed deposits

B4 308 Pl FSHB00E SN0 BAS” L) BT 08008 ?

(1) sdSeres  (2) SRS Terew (3) &dond (4) 3536 domen
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8. Which document contains the fundamental rules regarding the Constitution and
activities of a company ?

(1) Articles ot Association (2) Certificate of Incorporation

(3) Memorandum of Association (4) None of the above

FoR A0, CPerORBND Bowofo Y JIEres $o00K0 Ko HEID SErTPeRs D B0
BOAHED ?

(1) Dawsorsd (2) Sarso S0 (3) SoxssBwo  (4) PTY

83. The following is not a merit of co-operative society

(1) Easy formation (2) Service to its members
(3) Unlimited liability (4) Stability

53 300 TV SFTS N0 Aoy, SAFESe 0

(1) I Trer voodio (2) Sengs e Liden

(3) 28208 aved ereig (4) oo

84. The holders of these are the creditors of the company

(1) Equity shareholders (2) Preference Shareholders
(3) Debentureholders (4) None ofthe above
Eo00S® s eavesceesen

(1) ssded Trerorthen (2) w6550 Terme

(3) Adonthorebes (4) =Y

85. In which states the School of Hindu Law is prevailed Mitakshari conditions ?
(1) Assam and West Bengal
(2) Andhra Pradesh and Arunachal Pradesh
(3) Haryana and Punjab
(4) Except Assam and West Bengal in all other states -
2% B30S" O Tges” 2ot esdes K003 Aos), WTED A0gHes efoess’ dayow ?
(1) edyo Sobady 5By Somrd
(2) =0 504 oY exthersd &8
(3) ForEe Sobaty Scemb
(4) edmo 208010 3By Borrd oot 85 iee o) Tares”

Course Code -2 [N (P.T.0.)



AN

86.

87.

89.

The document governing the internal rules and regulations of a company is call

(1) Memorandum of Association (2) Articles of Association

(3) Prospectus (4) Certificate of Incorporation

5020 H5SRE” STANTB DT BHHERH A DoSHe 06D,

(1) soymon@an  (2) dowursd (3) sonans®o  (4) AR S i

The goods which are manufactured in other countries and purchased fd
consumption in India it is known as

(1) Export Trade (2) Wholesale Trade
(3) Entrepot Trade (4) Import Trade
0T0E BB $HOB BT’ IIAPACBERE Fofen Dseond eed HEas
e
(1) do83%0  (2) SPosuse (3) s> Seso (4) B8 Sk
NTPC is working under
(1) Co-operative sector (2) Public sector
(3) Private sector | (4) Joint sector
QX05.63. 2.2, B3 (E0d Soifo Zots 5 Db
(1) Ssssonsn (2) 968 Sorsw (3) @35 BoKSD (4) &58 Sotsn
A good example of a construction Industry is
(1) L& T Company (2) ECIL
(3) Murphy Company (4) HMT
AT HBFSOS D ORI $30D ST EEd
(1) L&Tzow (2) ECIL (B) 208 % (4) HMT
Preference shares are those which carry preference in
(1) Return of capital and dividend (2) Retumvof capital
(3) Dividend (4) Vofing rights and dividend
SRR TP e §od T3S BIE esHEH dot0d ?
(1) SoreEssop oraad Bodaky &dGoE (2) soresso poad

(3) &aeol (4) Lendantostsr, 3808 i
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91. The closing stock is not shown in Trial Balance. The reason is

(1) Because it is not sold (2) No journal entry is passed
(3) Nopaymentis made (4) Included in purchases
SR HEHL Jesso SCSETE” JocogH BIHC0E)
(1) @b eSpadc: soel (2) Deyacs orandd shesed
(3) Do) extHRBE: S7eed (4) SRS DL dod swed
92. Wages paid towards installation of machinery is shown in
(1) Balance Sheet (2) Trading Account
(3) Profitand Loss Account (4) None of these
QPOE® PALIIE: DYODD DBTeR
(1) e sipe 336" Brpedd (2) 3059 7o SrHTS
(3) oo oS ArHT (4) P2
93. Accountingis a language of
(1) Stakeholders (2) Business
(3) Shareholders (4) Investors and creditors
R TS0 (@93 0e3oh) &0
(1) 9559830503 (2) oo 90er
(3) Trerotho S8 (4) 2endord Sodary puemrse H0ETA

94. Credit Balance of Bank column in Cash Book shows
(1) Overdraft (2) Cash deposited in the Bank
(3) Cash withdrawn from the Bank (4) Opening Balance
SHESD YT e SE" BdeS Doy DA D08 ?

(1) 226y (2) erE GRS DD SR
(3) 2rpo% Rood SRS $AS (4) B0 dex
95. In Double Entry System income is measured on the basis of
(1) Consistency concept (2) Costconcept
(3) Matching concept (4) Business entity concept
22063 55 DTS’ eT0D BoBOHD rSDOE GBS
(1) Q&30 o5 (2) S0 erss
(3) DR300/ 228363 2SS (4) o6 eodgits oSS
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96.

97.

98.

100.

101.

Goodwill Account is classified as

(1) Real Account (2) Nominal Account

(3) Personal Account (4) Suspense Account

OEDS oo D srerm SBEOI 2

(1) g ree (2) vasrgy e (3) 3886 e (4) eoos grae

If Assets = Rs. 20,00,000 ; Liabilities = Rs. 18,00,000 ; then what is the capital ?
28 TS0 Glo), esdyen = & 20,00,000 ; eyes s, 18,00,000 ; SEESHEIND, BATPOEH0
Jogs 9

(1) 38,00,000 (2) 4,00,000 (3) 1,00,000 (4) 2,00,000

A sale of Rs. 50,000 to Ravi was entered as a sale to Raju- This type of error can
be classified as

(1) Error of omission (2) Compensating error
(3) Error of commission (4) . Error-of principle

623 &>. 50,000 o0 e057e0 O, Trertd @RISR SO SATECS &3 BP0 d SEPS
ST D5 ?

(1) e58% . (2) 30624 8% (3) I &S0 (4) cpos 8o
A statement in which all the Ledger Accounts balances are shown. It is known as
(1) Balance Sheet (2) Trial Balance

(3) Ledger Book (4) Profit & Loss Account

S5 T OO0 BF D DIBED DB 0Tt 2

(1) esesyo Sl (2) eoxr

(3) e pgssd (4) ewso e

Goods distributed as free samples is debited to

(1) Advertisement Account (2) Charity Account
(3)“Purchases Account (4) Goods Account

0B F0Y) 5790 BoDS DD D e GO DD 92

(1) sy (2) ooy (3) Svfwgra  (4) N o
The first stock exchange was set up in India

(1) Calcutta. (2) Delhi (3) Chennai {4) Mumbai
eTOB0F0S" 003356563 1 JEyor) I8,¢5 LT 2

(1) sess; (2) &8 3) 3 (4) S0
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102.

103.

104.

105.

106.

Which of the following is not an Input Device ?

(1) Touch screen (2) Optical scanners

(3} Touchpad (4) Plotter

5+ $oB TS DB Koiyrsad 35565 5080 59 9

(1) &S5 @02,5 (2) S Im0 (3) exSnE (4) b
Special Economic Zones (SEZs) have been created in the

(1) EXIM Policy 2002 (2) EXIM Policy 2000

(3) EXIMPolicy 1991 (4} None of the above

298 25708 £75%0 (SEZ) F20200.

(1) 2002085 Jobs® (2) 2000205 obe’

(3) 199185 obs® (4) =D

Which of the following is not included in the category of intangible assets ?
(1) Patentrights (2) Copy rights (3) Machinery  (4) Goodwill
&2 208 736" DO 552:¢50 esuw 205K T 9

(1) SdceSmpen  (2) =hpewes (3) ovogren (4) &b
inventory is valued at

(1) Cost price (2) Market price

(3) (1) or(2) whichever is higher (4) (1) or (2) whichever is lower
S0RORY) LB Deoss Ko

(1) 300 (2) 55065 Ded

(3) (1)8(2) 6" 06 2028 &b (4) (1) 8o (2) 6° 00 653,38 &b

The company whose managerial headquarters are located in one country, while it
conducts its operations in a number of other countries is called as

(1) MultiNational Company (2) Private Company

(3) Govemment Company (4) Public Company

TP AT SOpao el B¥0d eod 2D BTed’ TS SEETu AIRToD S0P
0D '

(1) ey erdad soow (2) dew sond

(3) ebes Sowd (4) =88 500
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107.

108.

109.

110.

Single entry system has the following effect

(1) One sided effect (2) Two sided effect
(3) Three sided effect (4) None of the above
2,083 Sal QRS 2 1308 N0 &oenod

(1) 2529 erdo (2) Boo Yo Barvo
(3) Sored Py a0 (4) 2=

Opening stock = 1,00,000 ; purchases =2,00,000 ; closing stock = 1,00,000 ;
sales = 3,00,000. Gross profit/loss = ?

(1) Profit=2,00,000 (2) Gross Profit = 1,00,000
(3) Gross Loss =1,00,000 (4) None of these

| o 5% e = 1,00,000 ; S5y = 2,00,000 ; SavRos) 56 des = 1,00,000;

edsmen = 3,00,000. Ryo oglo /50 = o ?

(1) ergysn=2,00,000 (2) ¥goerrsn=1,00,000
(3) Syesgsw=1,00,000 (4) PP

Which of the following is a liability ?

(1) Cash atbank (2) Bills Receivable

(3) Bills payable (4) Goodwill

Be (@08 T%3E° DO 5O DoBIH ?
(1) o sns (2) sioro Heved (3) Doy Dees  (4) &S

Debit what comes in and credit what goes out is the principle of

account.

(1) Personal Account (2) Nominal Account

(3) Trading Account (4) Real Account

éo:gésé’)é 53 ©0FA0OR GO DD HBA M0 odk Fab e0Fhnety §heS DO &R JrES

(1) s o (2) TasrEd e
(3) 365 e (4) 05
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11,

112.

113.

114.

115.

116.

COMMERCE -I

Which of the following is an intangible asset ?

(1) Fumiture (2) Goodwill (3) Building (4) Cashinhand
54808 TISE” LW &5ty 26 2

(1) 500 (2) &S (3) aonsm (4) D8 srs
Preliminary Expenses in Balance sheet is shown which side ?

(1) Assets (2) Liability

(3) Under capital (4) As a part of reserve fund

€53y 65510 IEET DY PENOD VPP BIHTD ?

(1) e (2) eypen (3) Sororsodos  (4) Bedxd0E arrone

How many parties are there in Bills of Exchange ?
35T £o8” 208 5008 e (STFEEGe) doerdd ?

(1) 5 (2) 4 (8) 3 (4) 2
Loss on sale of a Machinery is

(1) Capital Expenditure (2) Revenue Expenditure

(3) Deterred Revenue Expenditure (4) None of the above

QOO0 &35%,50 P SHO B0

(1) So7eess oy - (2) TBasrgacy

(3) b TR S50 (4) 08" 8 s>

Capital Expenditure gives benefit for

(1) Short-term (2) Long-term (3) Permanent (4) Syears
LTSS 9EY) DO (BAITEH0 Q08 5700 ?

(1) Zoseo (2) &gzoo (3) =0 (4) 5 Soseores
Who is the Drawer of Bills of Exchange ?

(1) Sefler (2) Buyer :

(3) Middiemen (4) Government Officer

SEED Do’ “De 85 IS5 2

(1) empgomid (2) Swoffwotan  (3) 2065559 (4) a5
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117. Trial Balance is prepared tor the purpose of

(1) To know profit (2) Toknow the loss
(3) To know the arithmetical accuracy (4) None of the above
20570 BIET0 BALFD DI 2

(1) orerd) Benosboess (2) 5T Do

(3) revose POBTHY BEOE D (4) DB 5>

118. An asset was purchased for 50,000/- and depreciated @ 10% under written
down- value method. The balance after two year.

25 &30 50,000/~ 8o 50 e DI, o0 86003 10% SHps M Jow 5658
BSE0TT BE) R0, DO HODETR HETEH &3 &30 Dewsd o &0e0d ?

(1) 40,000 (2) 40,500 (3) 41,000 (4) 42,000

119. The name and fame, good reputation of a Business Firm is known as

(1) Asset (2) Loyalty (3) Credibility (4) Goodwill
LE TS HOPED H00D D S 006 9
(1) ) (2) 2Bane (3) Smoo (4) &S

120. Which of the following is non-cash transaction recorded in P and L Account ?
(1) Depreciation (2) Adventisement
(3) Commission: (4) None of the above

&4 $oB TS DB A B DESIHERD TR FrTE” SATE @HBo0D ?
(1) 80 (2) TproEsodes  (3) s (4) PV D>
|

121. Liability of a partner in partnership business is

(1) Limited (2) Uniimited

(3) No liability (4) Unlimited, joint and several
BTRNR0g HORE" 8 PRl e

(1) o208

(2) edB0

(3) Sarr dodesd
(4) 200 2 eDBBE JOOCKY EINGMT GO
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122. When the partnership firm is closed/dissolved ?
(1) When a partner is died (2) Partnership firm is insolved
(3) Voluntarily dissolved (4) All of the above
SPHR05 DO AP SEHEE 2
(1) e&errdut So8e3odsded (2) arndegog S0 Barer VI
(3) Shossons SornDamsdE (4) psYaLT
123. The relationship between the shareholder and Business Organisation is
(1) Debitor — Creditor (2) Owner—Firm
(3) Creditor — Debitor (4) Employee — Employer
TeFTEE SO0 TS SO0 o 50230650
(1) 200805 - 205070 (2) cdes>d - dog
(3) 2080 - 0TS (4) &B8h - eBr0g
124. Which is to be prepared in consignment ?
(1) Balance sheet (2) Accountsales
(3) P&LA (4) Trial Balance
55520065 TREE06° BT SRS |
(1) eyedyosds (2) 0TS (3) wavgogre (4) wokr
125. The purpose of Non-Trading concem
(1) To provide service (2) Toearn profit
(3) Tocollect funds (4) Toprovide entertainment
THRIOBS 0P G, Sagg OO
(1) “Se0 woboseo (2) erarev esoveo
(3) Do SHoren Datwes (4) 2Ty ewodoiso
126. Why are the Profit and Loss Account is prepared ?
(1) Toknow the total sales (2) To know the total assets
(3) To know the profits (4) None of the above
RIOLO PR O BHOXTED DI 2
(1) 8o exsysres BeoEideo (2) oo 3208 BewuERder0
(3) ererdy BevoEve (4) =P
Course Code -2 [25]
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127. The life time of cheque is

(1) 3months (2) 4 months (3) 5months (4) 6 months
D), GIoo), DB S0 o ?
(1) 3w (2) 43w (3) 5o (4) 6o

128. When drawee is unable to honour the bili on due date, he can gofor ?

(1) Renewal (2) Retirement (3) Endorsement (4) Discount
K55S B0 T Doy 258 Denito e3sBoRB OIS D20 Do ?
(1) soops (2) 8BS (3) domtip@noeS « (4) dRnyoes
129. When bill is discounted with bank, the entry in the drawer books
(1) Sales A/c Dr. (2).. Cash A/c Dr.
Discount A/c Dr. Discount A/c Dr.

To Bills Receivable A/c To Bill Receivable A/c
(3) Bills Receivable A/c Dr. (4) Cash A/c Dr.

To Cash Alc To Bank A/c

To Discount A/c

Do eroné” G, 0t DICEINTPE ey S HFEDE’ Trabeds Deres

(1) esyse g Dr. (2) K grae Dr.
& 080 gree D, &y,0e0 g Drr.
To S3reoden.are To S3ren e e
(3) Sxres fen Dr. (4) K& g Dr.
Toxxes oo TO erpe® o
To G o0 o

130.Account sale is prepared by

(1) Consigner (2) Consignee
(3) Government Officer (4) Customer
0T 065 D0 BOLTE BAKDHS '
(1) &5p6 (2) 55D (3) @evedsd (4) DIrHTED
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131. The relationship between the consigner and consignee is
(1) Seller and Buyer (2) Employer and Employee
(3) Ownerand Agent (4) Creditor and Debitor
5720156 50000 SR B0¢5s Sowogso
(1) emSommts Sodaky SRR eomtd (2) abesrd Soboks aSh
(3) Qs So8aky A0 (4) 206078 SoBa 2T
132. Overriding commission is given for
(1) To take the risk (2) To provide more profit
(3) To sell the new line products (4) None of the above
£.5360C0R SRBHRO DO I 2
(1) 8%, eBoDBoEHH (2) orsererosto
(3) e IS SOR BAROEHH (4) W=y
133. Loss due to unavoidance, inefficiency, badluck . . . etc. is known as
(1) Normalloss (2) Abnormal loss
(3) Noloss (4) Neither loss Nor profit
DTOOBBR, ©I20GS, SN0, AT s IO SETR $5¢ HeAICD SPo
(1) SoroerSio (2) evrgoesge
(3) Sgose (4) 3807 5 SoBAKL EEHIT S
134. Receipts and Payment, Income and Expenditure Account and Balance Sheet is
preparedin
(1) Solef,trading concern (2) Partnership firm
(3) Joint stock company (4) Non-Trading concern
IR) DDoYL JBE, eSIral SR FFE HHOAKD e ePe HID SOXFH Dako TS $o
(1) Josgrosw (2) arngsogRoy
(3) 2ronoced P80 LoD (4) Tt Soen
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135.

136.

137.

138.

Which of the following is capital expenditure ?

(1) Subscription (2) Entrance fees

(3) Life membership (4) Sale of newspapers
B3 $oBd TS DB Boress B8 ?

(1) Sozeen (2) (5% Soosw

(3) 228 o Dy (4) Fre>oRd%e ebygo

Receipts and payment account in case of Non-trading concemn is
(1) Nominal Account (2) Real Account

(3) Personal Account (4) Impersonal Account
TG DoRed” ST Bo8an 300D T &0

(1) T2o5rEBd e (2) =8 T

.

(3) sdnes sro (4) S@rsosd g

Revenue Expenditure which is not written off in one year as its benefits spread
over a number of years

(1) Revenue Expenditure (2) Capital Expenditure
(3) Deterred Revenue Expenditure (4) Sales Expenditure

PATeS0 Do KoBETeS" Gotsero H0 &8 HoNEEHE" B DAbeED TIBT PERNL Dk0erEd ?
(1) BTy (2) 2o70s 96
(3) &b dadrg sy (4) o8 ptiye

Three partners A, B and C started a business with the capital 10,000/-, 20,000/
and 40,000/- respectively. At the end of the year they earned 28,000/~ as profit.
What is the share of partner ‘B’ ?

B0/ gritiyes A, B 1080k C es s 10,000/-, 20,000/ 558065 40,000/- Sraranes
TITRY BT, HostyTrosand” 28,000/- eardy SoreoTrd. ‘B arrind dn), e o 2
(1) 4,000 (2) 8,000 (3) 12,000 (4) 16,000
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139.

140.

141.

142,

The purpose of preparing Statement of Affairs

(1) To know the capital at the beginning or at the ending
(2) To know the profit at the ending

(3) To know the total sales

(4) None of the above

26520065 655 Iy (SgSTTre TIBE) R0 I HALED B> ?
(1) ozsd’ Sor woBsnd Saredsod) BevioSRoHD

(2) 368" e DeoiEDOHD

(3) 8o 8HR508% BeEVOSD

(4) P2

Which of the foliowing is correct ?
(1) Assets = Capital + Liability
(2) Capital = Assets — Liability
(3) Liability = Assets — Capital
(4) All of the above

Eod TS DB TOIE 9

(1) esdoen = Soredsdo + edyen (2) Soredsso = esd9en — eyen
(3) edyen = esdpen — Boresdo (4) 252

In which type of accounts, only personal accounts are taken ?

(1) Single Entry System . (2) Double Entry System
(3) Trial Balance (4) Bank Reconciliation Statement
D S5 ©F°0eIoh HEHS’ SHe0 S I PT O STBD HIE0LTE ?

(1) 20e35¢ domdo (2) =0t 56 Do

(3) eo¥er (4) 250 Joge 3000 S8

If the payment is made by the drawee before the due date is called as
(1) Dishonour (2) Discount

(8) Retiring Bill (4) Remaking of Bill

Reo) 577y 50308 e S5 Boomdy DO 5700 Dikooerts ? |

(1) exace “ (2) &ryoes

(3) Dy dosoes (4) Dok 209 Srdrodoistro
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143.

144.

145,

146.

Why the revaluation of assets and liability is done ?
(1) Atthe time of admission of new partner

(2) To know balance position

(3) To pay to income tax

(4) None of the above

BR00 YIETEREOEIE O DIXDL 2

(1) BrsSom a8 arKac DOSHED (2) S0 38730 BTV
() esoran By DOoBES (4) =Dy

The Motto “ One for All, All for One” is applicable in

(1) Sole trading concern (2) Co-operative concern
(3) Joint stock company (4) Non-trading concern
“e90e50 5350 2.8,60, 2.8,8 50 &0t e TS0 JoHE’ Sty 9

(1) s Trsan (2) S=vHoge

(3) eran0el PO Bogen (4) T RoPeo

A, B, C are partners. ‘C’ retired from the firm. If ‘A’ purchases the share of ‘C’ the
new profit sharing ratio will be

A, B, C o0 30100 ariigen. ‘C’ 0y Sood 500 Do, ‘C1 Terdy A’ SR oo Daed.
RN BIES T SO NG
(1) 1:2 (2) 2:1 (3) 1:3 (4) 3:1

Ram, Ramesh and Mahesh are equal partners. Ramesh retires, Ram and Mahesh
have decided to share future profits in ratio of 3 : 2. What is the gaining ratio of
Ram and Mahesh ?

T°), GR0R BOBAH) HTREO VTR aTed. SRR DE0ed DI, T HoBaky H0arDe eRS
earoiso 3 | 2 DHHE” S0wE ToI AFooBosITAD. @01 T°S> $o80K0 B03rHe K0S 08 AR
o 9 -

(1) 1:3 (2) 2:3 (3) 4:1 4) 4:3
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147. A asset was purchased with 10,000/- depreciation at 10% under fixed instalment
method and written down value method. What is the amount of depreciation in the

39year?
(1) 1,000/- and 800/- (2) 1,000/- and 900/-
(3) 1,000/-and 810 (4) 1,000/-and 750

28 &s}D 10,000/ sroien Skofies Bamth. 880e 85w 10% Sy 0 Tontre 5¢d
20800 BRBLK) Jegw IS ES5 O T, 00D DD SOBSSHN SO Jotb ?

(1) 1,000/- 2080x> 800/- (2) 1,000/-s:8ax00 900/-
(3) 1,000/-2080%0 810 (4) 1,000/- 5800 750

148. What is the relation, a debenture holder is with business firm ?
(1) Seller (2) Buyer (3) Creditor (4) Representative
GBOBETTAE T RIS BoP DT 2
(1) exppoon  (2) Fofeowds  (3) wwoos (4) D03 Eade

149. When the Delcredere Commission is given, who bears the risk ?
(1) Consignor (2) Consignee
(3) Transporter (4) Insurance company
GEBEED EaoDsy QsRdtRe SRy BoEN
(1) =5p:6 (2) =50 (3) smewerono (4) darzoud

150. Which of the following is the exampie of a Revenue Expenditure ?

(1) Purchase of building (2) Purchase of equipment
(3) Purchaseofbooks (4) Purchase of newspapers
B2 G0 TS’ 6 TIBF BOTDS ST 7

(1) e SR (2) Skh00gy Sof'ey

(3) Iimre S0 (4) oo 9850 R
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